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Note : First 15 minutes time has been allotted for the candidates to read the question paper.
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General Instructions :

(i)
(i1)
(i)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

i

All questions-are compulsory.
This questionpaper has two sections.
Section *A’ has 20 Multiple Choice Questions of 20 marks whose answers have to be

given on OMR sheet. o
Do not cut the answer after marking it on OMR sheet and do not use eraser. whitenes

The second section *B* has descriptive questions of 50 marks,

This section has total § questions.
It is clearly mentioned at the very beginning as to how many parts of the question arc

to be answered. _ red ssiner
Marks allotted to each question are mcn-.:iune [:gamst it
Start from the first question and proceed 10 the last. Do not waste your time over a

question which you can not solve.
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g-'F 2

(wgfreefa )
I M a3 wenst g 1
(A) (18,25) (B) (5,15)
€) (7,21) (D) (31,93)
2. 144 % TS UGS § 3T Torgg Yl w1 - !
(A) 5 (B) 6
(C) 7 (D) 8

3. 'm'%ftﬂﬂﬁ%%ﬂﬂ'ﬂﬂm'ﬂ’?:—h=3m}r*my=IWWMWW? 1

(A) m=-6 (B) m = 0 %aA
(C) m#£-6 (D) m#£0
4. 2x+3y=18;x-2y= 2% FAQM - 1
S
(A) x=6y=2  F (B) x=3,y=4
N
(©) r=3.y=9@$ (D) x=0,y=6

5. k¥RRTAS i tesahem g ek - I Wk y =k BEwERATR Y

(A) +1

(B) =zl
C) -1 D) §
[
6 ﬂﬁx:__‘z‘-‘-'fﬂ}x'ﬂﬂmﬁfn- 1
(A) +2 (B) =1
€ +3 D) 5
) (W-7)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

7. wmABﬂsqmqamam(z,_n!,amBﬂﬁ%m(Lﬂtﬁﬁﬂﬁmﬂm’

(A) (3,10) (B) (10,3)

(C) (-10,3) (D) (3,-10)
8. 3¢ - 12r+k= 0% 7 WO A A k H 7AW -

(A) 12 (By 4

<) 7 (D) 9

9. ﬂwﬁﬂﬁﬁmwﬁ,wmmnﬁmaﬁ,mf-

(A) T pfat (B) @ww st
(C) wufta amepfovat (D) watmam st

10. #ﬁﬂﬂmﬁgﬁiﬁmyﬁs;ﬁmﬁﬁ,ﬂmmmmm— 1
(A) 9:25 i8) 6:10
€ 3:5 (L) 25:9

11, ﬂﬁﬁ?ﬂﬁ\jﬁﬁgﬂﬁﬁ,aﬁcﬁaﬂws&ﬁﬁ,ﬁﬂﬁaﬁrm- 1
(A) wwEm (B) M fnga
(€) i o B (D) Finga w78

2 gy finet 3 ot ;10 @ 7 15 8 €, B Eh feett 1 g A SR

(A) 3:4 (B) 4:9
(C) 3:2 (D) 2:1
13, Tf21an 6 = 8/15 A cosec O F1 W EAI - ,
@ 3 ® 3
© 3 ® 1
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14, If2cos36=1,T0H A= wm - 1

(A) 10° (B) 15°
() 20° (D) 25°

15. ﬁﬂﬁﬁmﬁhlmmtmﬁmwmm_ 1
(A) 7:9 (B) 4:9

16. I wHEm B o F R AENE B 33 Rt @ ey A & ) 7@ A T I T T

i s - ;
(A) 4nr? (B) 8nar?
(€) 6nr (D) 2nr

17. Pefafyad @ a7 Fsia g fagaEie ¢ 1
(A) T (B) AT
(C) wgT® (D) = fogem

18. 189 T i IpTren ST HT AR H1ea 8 — 1
(A) 5 (B) 4
©) 3 | D) 6

19. 3 foreft et se= Y wiftuent 16 aor qrea 15 &Y, A 6 Sgw BT -

(A) 16 (B) 18
(C) 15 (D) 17

20. e 10 S st Y snfern gt -

(4) @ 52
(C) 54 (D) 5.5
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SECTION - ‘A’ 20

(Multiple Choice Questions)

l. Which one is a pair of co-prime numbers ?
(A) (18,25) (B)Y (5,15)
€ (.20 (D) (31,93)

2. The sum of the powers of prime factors in prime factorization of 144 is
(A) 5 - (B) 6
<€ 7 (D) 8

3.  For what value of ‘m’, pair of equations x — 2y = 3 and 3x + my.=.l will have unique
1

solution ?

(A) m=-6 (B) m=0o0only

(C) m+#-6 (D) m#0

4.  The solution of 2x + 3y = 18 & 2y = 2 will be - 1
(A) x=6,y=2 © (B) x=3,y=4
X =0, = x=3, =
y D y
© x=3y=8 & D) x=0,y=6
@$
5. For which value of k, there-will be an infinite number of solutions for the pair of linear
equations x + ky= l and kx +y =k* ? 1
(A) +1 (B) #+l1
C) -1 D) s
6. If }2—}-_2 = -717, then the value of x will be_ - ]
+1
(A) 2 ® =
D) =5
(C) *3
[50f 12] (W-7) P.T.0.
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7.  The centre (2, —3) of a circle has diameter 88 AB. The coordinate of B is (1, 4). The

coordinate of A will be ; 1
(A) (3,10 (B) (l10,3)
(C) (-10,3) (D) (3.-10)

8.  Ifroots of the equation 3x* — 12¢ 4 | =  gre equal, then value of k will be - 1
(A) 12 B) 4
© 7 (D) 9

9.  Two figures whose shapes are sam¢ hyt the dimensions are not essentially same are

called - 1
(A) equal figures (B) similar figures
(C) symmetrical figures (D) congruent figures

10. If the corresponding sides of two similar triangles are in the ratio 3 : 5, the ratio of their

areas will be — ) 1
(A) 9:25 (B) ~6: 10
(C) 3:5 (D) 25:9

11. Ifthe sides of a tnangle are@¢m, 4 cmand 5 cm, then the triangle will be —
(A) right angle triangle (B) acute angle triangle

(C) obtusc anglelriangle (D) wmangle is not possible

12.  The perimeter of two similar triangles arc 10 ¢cm and 15 ¢m respectively, find ratio of

their areas.
(A) 3:4 (B) 4:9
(C) 3:2 (D) 2:1

13. Iftan @ = 8/15, then the value of cosec 8 will be -

17 8

A ¢ B) 77

4 15

© 3 D 17
82%(EB) [00f12) w-7)
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14, 1f2cos 30 =1, then value of B will be -
(A)Y 10° (B) 1s°

() 20° (D) 2%°

1$.  The circumferences of two circles are in the tatio 3 : 2 then the ratio of their areas will

be - 1
(A) 7:9 By 4:9
(y 2:3 D)y 9:4
16.  If two hemispheres of equal radius 'r’ are joined by their bases, then the curved surface
arca of this new solid will be - !
(A) dnr (B) 8nr?
(C) 6nr (D) 2nr
17.  Which one of the following is not a measure of central tendency ? 1
(A) Mean (B). Median
(C) Mode {D) Swandard deviation
\\@
18. The anthmetic mean of n:&@l numbers. L to 9 will be - 1
\Q‘G
(A) 5 QQ (B) 4
@ .
(C) 3 (D) 6

19. In a given frequercy distribution, if the mean is 15 and median is 16, then its mode will

be= 1
(A) 16 (B) 18
(€ 15 @) 17

20. Median of the first 10 natural numbers will be - ;
(A) 3 (B) 5.2
(C) 54 (D) 5.5
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vy - g iSECTION - ‘B’ 50

(IATEE W73 | [y egcriptive questions)

1. wft wuzg #Hifaw 12
) ﬁlzﬁﬁm%Eﬁwmfrﬁum%l 2
L
(®) TeosA= 3 &L sin 2A % y 373 #ifora | 2
TR R | 2
@) P ot & mferm € o i 2
.I Cuico ' 0-10 IO-EO# 20-30 | 30-40 | 40-50
} — !
weam 2 | 8 | 30 | 15 |
] ]
(%) T fag & fréwiw wm Hifore A fagadi (1, 7) 3 (4, -3) F e T T gve
2 3% A § fnfra A 2| 2
() K& form am & foro famg (K, 1), (2, 1) #41(4,S) 0 @ Y@ wE 2 2
1. Do all the parts : \\Q® 12
(a) Provethat5+ \f_?n,ggnn irrational number. 2
N
(b) IfcosA= é%hen find value of sin 2A. 2
(c) Prove that the twice of the volume of 1 cvlinder is equal to the product of its radius
of base and curved surface 2
(d) lliind the median of following aara : . 2
 Class interval | 0-10 | 10-20 | 20-30 ' 30-40 |40-50 |
4 :
I,‘Frtqucncy 2 8 30 | 15 ' 5 J

(¢) Find the coordinates of the point which divides the line segment formed by joining

the points (-1, 7) and (4, -3) in the ratio 2 = 3. 2
()  For what value of K, points (K, —1), (2. 1) and (4, 5) will be on same line ? 2
822(EB) (8of12)] W-7)
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). faafafas # @ il ohe gug 51 o Df: | 20
&) 7% e T fraTen fi Yorm: mdem fam x - y = 2 @@ 9x - 3y = 6 % IH €@

£ 4
@) @3 BT T wwn F v dm o @ | af2 w1 F 3 I fed I A A
T AT FAT [ FEN | 27 s gy | WG A FAAC 4

(M 3 ABC & o $ifse ot BC - ¢ indt AB - 3 & 3 LABC - 45° 81 | TH
mh‘gm'.&BC'ﬁtﬂﬂﬁ%ﬁvﬁmmgmcﬂgmaﬁaﬁ3.-'41?‘it
v 3% w2 i & frftae a
@ fead, IR BD L ACTN CE L AB R, @ fig i f6 4 AEC ~ A ADB. ¢
C

F

. -‘\- .

E
(@) Frsfafiea s aoft |8 o ma g S 4

=

(wh s 0-10 | 1020 1 2030, ].30-40 | 40-50

1

AT 5 Q2 2% 10 8
N |

{ " B

(@) Frerferfiga sitavst & sgame ) o .
At | 1Q0] 3.8 ST L?-" '1_9]1—

| £ B

> 2 L]

A

2. Answer any five of the tollowing parts . 20
(a) Show through graphical method that lincar cquation system 3x ~ y = 2 and

L]

9x — 3y = 6 have infinite number of solutions. a

(b) The sum of the digits of a two digit number is 9. If the digits of the number are
interchanged then the new number will exceed the original number by 27. Find the

number. )
(¢) Construct A ABCn which BC = 6 ¢m, AB = 3 cm and ZABC = 45°, Construct a
similar triangle ‘ABC" whose corresponding sides are 3/4 of sides of A ABC.

Write the steps of construction in bricf. .

822(EB) [90f12] W) oo
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A

C

E

>~

(d) In the figure, if BD L AC and CE | AB, prove that A AEC ~ A ADB.

Find the arithmetic mean from following frequency table :

Class interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 12 25 10 8
(N Find the mode ofghc following data : '
Class interval 1-3 3.5 5-7 7-9 9.1
| Frequency 7 8 2 2 ]

3. o= wrftewor & gl ) e weftetoll & g 3 wed S g B
1

4 1
2.r+3y—2 "3x 2y 13/16.

AYAl

A & gEhel TR 1107 @1 R ) afy 37 P w1 e 2 @ B, @ e it )
g 33 Hif |

Solve the following pair of equations by converting these into linear pair of ¢
1

| Lo quations |
§*§=2;§+'2-);=13f16.

OR
Sum of areas of two squares is 117 m*. If difference between their perimeters is 12 m

then find the sides of both the squares.
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g0 § 1 78TO 8 33 onn o gl 7 o Ef s
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% 80 H170 E 7TF F 2F 3w et mm et A p e A R @
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4. From the top of a tower 60 meter high, the anyles of depression of top and bottom of a
building (house) are 45° and 60° respectively Find the height of the building and its

distance from the tower ¢

OR

Two poles of equal height are placed opposite to ¢ach other on either sude of a road 8O
meter wide. From a point on the road betw con these two poles, the angles of elevation of
the top of the poles are 607 .me\\lu respecuvely. Find the height of the poles and the

distance of the point frow@ poles 6
Q\Q
>
s 3 ofizu SR & vw U & |4 de ) e <% g T R yEw et o faf W gd &

a3 4 diz O TF gIER g=y W@ 7, @9 F9 A S 0% s @ v e
arm R | ¥8 whu & $arf wm dfae .

Jua

7% Srgen men frew WS @ 0 TAFIT. $ 3R o g a2, & froere ve
g, e ST 1 S § & R, @ AR & rdw Swri v awe i e
vy | s
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eter. An embankment is made by

. 3
5. A well of 3 meter in diameter is dug to a depth of 14m
nly around the

; i 1de, eve
spreading the soil out of it, making a circuldf M"& of 4 meters w
well. Find the height of the embankment.

OR

: ively 15
A hollow sphere whose inner and outer diameters are 4 cm and 8 ¢m respectivel)

. : ed
melted to form a cone whose base is 8 cm in diameter. Find the slant height and curve
surface area of the cone. ¢

N
S\

S
Q

N

B
e 1T : (w_
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